Pricing

Q1. HS manufactures components for use in computers. The business operates in a highly competitive market where there are a large number of manufacturers of similar components. HS is considering its pricing strategy for the next twelve weeks for one of its components. The Managing Director seeks your advice to determine the selling price that will maximise the profit to be made during this period. 

You have been given the following data: 

Market Demand 
The current selling price of the component is $1,350 and at this price the average weekly demand over the last four weeks has been 8,000 components. An analysis of the market shows that for every $50 increase in selling price the demand reduces by 1,000 components per week. Equally, for every $50 reduction in selling price the demand increases by 1,000 components per week. 

Costs 
The direct material cost of each component is $270. This price is part of a fixed price contract with the material suppliers and the contract does not expire for another year. 

Production labour and conversion costs, together with other overhead costs and the corresponding output volumes, have been collected for the last four weeks and they are as follows:
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Required: 
Calculate the optimum (profit maximising) selling price of the component for the period. 
Q2. AVX Plc initially priced each batch of CB45 circuit boards on the basis of its standard cost of £960 plus a mark up of 25%. Recently the company has noticed that, due to increasing competition, it is having difficulty maintaining its sales volume at this price.

The Finance Director has agreed that the long run unit variable cost of the CB45 circuit board is £672·72 per batch. She has suggested that the price charged should be based on an analysis of market demand. She has discovered that at a price of £1,200 the demand is 16 batches per month, for every £20 reduction in selling price there is an increase in demand of 1 batch of CB45 circuit boards, and for every £20 increase in selling price there is a reduction in demand of 1 batch.

Required:

(b) Calculate the profit maximising selling price per batch



(8 marks)

Q3. A company is considering the price of one of its products for next year. It expects that the variable cost of making the item will be $15 per unit. It has also determined that if the selling price were to be $35 per unit then the demand would be 500 units per week. 

However, for every $5 increase in selling price, there would be a reduction in demand of 50 units per week; and for every $5 reduction in selling price, there would be an increase in demand of 50 units per week. 

Calculate the optimal selling price. 
Q4. Heat Co specialises in the production of a range of air conditioning appliances for industrial premises. It is about to launch a new product, the ‘Energy Buster’, a unique air conditioning unit which is capable of providing unprecedented levels of air conditioning using a minimal amount of electricity. The technology used in the Energy Buster is unique so Heat Co has patented it so that no competitors can enter the market for two years. The company’s development costs have been high and it is expected that the product will only have a five-year life cycle.

Heat Co is now trying to ascertain the best pricing policy that they should adopt for the Energy Buster’s launch onto the market. Demand is very responsive to price changes and research has established that, for every $15 increase in price, demand would be expected to fall by 1,000 units. If the company set the price at $735, only 1,000 units would be demanded.

The costs of producing each air conditioning unit are as follows:

$

Direct materials 



42

Labour 




12 (1·5 hours at $8 per hour. See note below)

Fixed overheads 


6 (based on producing 50,000 units per annum)

Note

The first air conditioning unit took 1·5 hours to make and labour cost $8 per hour. A 95% learning curve exists, in relation to production of the unit, although the learning curve is expected to finish after making 100 units. Heat Co’s management have said that any pricing decisions about the Energy Buster should be based on the time it takes to make the 100th unit of the product. You have been told that the learning co-efficient, b = –0·0740005.

All other costs are expected to remain the same up to the maximum demand levels.

Required:

(a) (i) Establish the demand function (equation) for air conditioning units; 
(3 marks)

(ii) Calculate the marginal cost for each air conditioning unit after adjusting the labour cost as required by the note above; 





(6 marks)

(iii) Equate marginal cost and marginal revenue in order to calculate the optimum price and quantity.








(3 marks)

(b) Explain what is meant by a ‘penetration pricing’ strategy and a ‘market skimming’ strategy and discuss whether either strategy might be suitable for Heat Co when launching the Energy Buster. 







(8 marks)

(20 marks)
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